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Section A (:?0 X 2 = 60 marks)

cosrect answer.- Make your choice {i. 2, 3 or 4). Shade the correct oval {1. 2, 3 or 4} on the
Optical Answer Sheet given. : : -

1 Which one of the following animals is comectly matched to its behavioural adaptation?
B Antmal ;_g_ehavioural Adaptation
() N Wolf ' Hunts prey in packs
{2} Camel ) Hump 10 store waler
'(3} Peacock | Having :éolomfm feathers o attiact man?.s
{4) B Duck . Having webbed feel for movement ig water and on fand

2 Mike observed two fruits jin the Science taboratory as shown below.

Lalang fruit

Nipah st

He examined the fruits with a magmifying glass andrecorded the foltowing statements.

A The nipah fruit has wing-like stauctures.
B The lalang fruit has hooks that. cling on an animat's fur.
C Both fruits have structurat ddaptations to aid dispersal.

Which of the above statementi{s} is / are comect?

() Cony

2 Aand8ony
(3)  BandCony
(4} ABandc

A-1 {Go on te the next page}
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T}

Some inventions imilais the adapiaiions of animais. The diagram above shows a man
weanng snoskelling geass and fiippsrs under walsr. Which of the joliowing animgis £GAUG
fippers and snorkelling gears have been initated from respeciively?

Turtle

Great diving beciis

Dzzagoenily nymph

Water stick inseci .

D ew»

11} A andC only
12} A and G only
{3} B and C only
{4} B and D only

Decomposers enrich ine soil with cutdents for tne pianis. Ths diagram belowy shows hovs
decomposars act on: vanious organic matier and change them inko simpls substances.

dead
organisms

w"/
O |,
w2

\E*/

What do the fetiers A, B and C represent?

Key

seeesdr  5ais on

—  » broken down into

- - » zhsorbed by

| A B C
{n carbon dioxide predators nutdents §
2 " carbon dioxide fungi auiients ;
H ‘mineraisalis ;. scavengers wasle matter ‘
i4 ¢ mmineral safis baciens waste maliar *J

+

ey

e TIeXt BEGT.
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Which one of the following graphs shows how the
to be affected if there is 3 mass migration of E out

Piants

c-

Study the food web below. A, B. C. D and € are anirnals fiving in a habitat.

< ]

of this habitar?

populations of A, 8,

CandD érfe-'likety

n @ ' ]
. MNumiber of Number of
organisms organisms
.lr D 4 ~
A
c. B .
Time Time
3} (4)
Numb‘er of Number of
organisms organisims
4 T oA
C
8
\p X |
Time Time

{Goonto the next Pagej
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5] The tz2ble Gaiow Grouss 68 imagingry aaimals according ¥6 insir disis
’ Herbivores Carnivores l Omnivores l
i A c ; E :
! . B D F !
Which one of Ins iood webs is correct?
é
T -
{1} . 2 :
o Pen——, D ___, g | C «— TP
4 = :
g N o
(3} i (4 "?
! :
i Plamdt — 5 » ; E ——— Plamt—, 2
é AN R
*
{ I ] l v
i ¥ < i
i . I L -
i B _ ., < [ I
i { =
7 Which of the following are the consequences of acid rain?
A Piants dying. .
8 Ozone layer being depleted.
C Aquatic organisms being killed.
D - Historical stone monuments wearnng oul.
{1}  AandD anly
{2} 8 and C only
{3) A, € and D onty
{53 A B Cand
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10

Which of the following measures can help 1o reduce air poliution?

{1)
2
3
{4

A . Use of fossit fuets in power stations.

B Use of hydroélectric power stations.

c Use of windmills 10 generate eledtrncity.
o Use of solar cells to generate electrcity.
B and C only

A, C and D only
B, C and D only
A B CandD

Which ol the foliowing are negative effects of-deforestation on the environment?

(1)
(2
(3)
{4

A Bestruction of the ozone layer
B Erosion of the tap layer of soil
C Increase in carbon dioxide level

Bonly

A and 8 only
B and C caly
A, BandC

The picture below shows a compass.

When choosing the malerial 1o make the compass lid Iabelled X, the least important

propenty 1o consider would be

(1)
2}
3)
{9

whether it is strong

its heat conductivity
whether it is waterproo!
1is degree of leansparency

A-5 {Go on to the pext page)
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i3 Siudy ihe t2biz bowow Carsitily,
- fis iigieenin ;| UO%Siimake  Does i move ! Doesii grov:
: Organism § 14 E focdenits ! from placeto ! well in dark and |
i colour? - -1 i H
: ; own’” ; lace? : laces?
: A i Yos : Ng : Yeec i No i
¥ T R v
3] No ! He ; Yes : Yes i
T Ne : Ng ; No { Yes
e — ; i :
i D ; Yes Yes : No t No
thu 0N of the organisms. &, B. C or D is mostly fikaly 5 fungus?
2 5
©£p Lo
14} o
12 Which one of the iollowing is not a source of enargy? -
i1; Sun
23 Cosal
131 Wing
i4} Waier
13 As a fooibatter kicks 3 the bafl, tha (A enargy of the iootbaﬂera:es is
transisrred io the {8 energy of lihe ball.
S
®) ®
{1} { kinefic kineic
e —— |
{2} ] Kinelic potential
{3} | poiential kinetic
{9} { potential | potentiar
—— 1 PR
14 gy Crushing a piece ot paper, we know fhai force can

11; make a maving oDfeCl Sics

i2} Cnan zine S“a...-‘ ni an ";"'n...f‘t

K :m:m: 2 sizt KETY Cﬁjms ROV

¥t change tha Srection of = moving object

2 5 #hm A T tha s

Pavi o
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is Study the flow charl below.

Sian

I

Habitats

Which one of the Idliowing haibitas is'C micsfTkely 15 %

{1} Field
(2} Pond
- {3 Swamp

{4} Leaf fitier

A-T {Go on tethe et page)
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17

A M Pl .o i F]
curlyhaic [ { Ysteighthai | Key i
Gt vz e biack syas !
1 l Ifsﬂ_a!é‘
3
i I I I i —! i
H 1 i ! |
i ! : P M\Eamals i
P /,.\\ . —_— — I nzlz :
A g C LB
straight hair <y haic shraight hair curhy hair
Drowsn syvas biack eves Hack eves - black syss

Which cividren inheried cnly oae fzature irom each pareni?

i
{2;
{3i
i

A and B onjy
C and D only
A. B and D onty

A, B,C and D only

Which of the foliowing flowers, K, £, M and N, aiter removal of ceriain paits are slill able

to develop into fruits?
i - Flower Parts removed
i K AandC
{ BandD
I M <
! M f Candp _

Tl

P Y T T
ll* &) f\.’ d

Tar e

Kandl only
K and M O!‘f}.—
L and N oniy
M andiN c-n%y

L a1
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18 In which of the following sei-up(s) would an effori of 10N be suliicient o il the load?

) Sel-up Z

15N

{1} Y only

23 X and Z only
3 Y and Z only
{4) X.YardZ

18 Abollle is rolling in the direction S. 1t is easiest 10 stow down the moving bollle if
frictional force acts mostly from

- Q
) / /
f -
P ~F - >8 f T
©
}f “'““_/ )
f
{\ P
2@ «a
{3) A
@ 7

A-9 {Ga on to the next page}
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20 The dizgras beioy
and idemhcs! buibs.

SOV SR

W

WE FDUT SWCLRES wRIN Oilicrani

- L]
Nz buibs in all jour circulis lighi us.

th

i =~ AT ¥; S S - 2 -
¥hich one of the joliowing sais shows ine comect baightness of thes bulbs?

{1)
2
(3
(41

Brightness of bulb

Low

Medium

High

N

P

DOl

wivlo

VWD

iGoen o ke naxi 529
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The table below shows the characteristics of 4 things (P, Q. B and S).

g | O | B T e s
P v ' v :
R B > y

R v

g v s -

A tick () indicates that the thing has the chara@tenstc ndicated.
Which of them is / are (3} fiving thang(s)?

{1} Qonly
{2) P and S onty
(3} QandsS only . '

" {4) All ot the above

Kah Yen was given the foliowing data as shown below:

Planet Jupiter Mars Venus Eadh_-i
Average surface - T 2

- Substance i Mercury lodine
Boiling point °c) | 3s6.7 1843
{ Melling point (°c) { 388 1137 )

Based on the data given above, which one of the following statements is true for
Mercury and false for lodine?

(" ltis a solid on Mars.
2) Itis a gas on Venus.
{3) lt1s a fiquid on Earh. -
{4} ilis a solid on Jupiter.

A-T1 {Go on to the nex page}
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23

Which onz ci the lolfowing granhs below
dhoxide and oxvgen in the beiljar during

2 WEMA T aram mimml jein = foels
= WEl-waizred niend inic 5 S

piani

Dl jor covetadadin
bizck olasiic bag |

shows the changes in the-amount of carbon
in2 period of ima7?

{1} 2
e axygan :
Amount i axygan
cigas i
Amounl
of gas -
. - {ont®
rbon dioxide
1 . N
Time (hours) i Time {hours)
3} {4)
4 & carbon diaxide
. carbon dioxide
Amoumt | . Amount
of 3es of gas
e (o)
: :
. cxygen X ;
; Timz shgurs, o
L3z i3r nn I ihe nsxd nrast
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24

25

The diagram below shows the planet Earth
are 4 places on Eadh. Which area would

(1)
23
(3}
(4}

Andre wanted to fing out how diff

Iy

rolating on its axis XY. Areas E. F, Gand H
be naxi to experience sundze?

Sunfight

IS

Tomm -

wtuch he would use below.

He made a fist of the exp
Which one of the folt

Light

Water .

Number of green beans
Temperature of the environment

LBDON

correctly?

(1)
@
@)
@

erent factors alfect germination. He iisted the variables

eriments which he would like lo conduct.in the {able below.
owing experiments will endble him to conduct the expeament

Aim of the experiment

Variables kept constant |

To test if light affects ge:‘rﬁinaiion.

g

P.QandR only'

To test if heat affects germination.

P. Q and S only

To testif moisture affects germination.

P.RandS onrdy

Totestif oﬁercrowding aftects gernination.

S

Q,R3and Sonly

A3

{Go on o the naxt page)
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26 Clemsnl hung 2 mstzi bar, XY
0 fest with end ¥ poiniing i the
fhads o7 the same matedai, Lt i dic not Seille

What wouid Clement cbserve i he brought Bar

| d_{ e —

Wi a8

faltte

T T IGFSAas o

Norih direciion

relorn stang

{12 End Y will ropel End A and End B

{(2; £nd Y will atiract End A but repei End E.
{3} Bar XY does nof interact with Bar A8 ai all.
{43 Beth ends of Bar XY will aliract both ends of Bar AB.

-

"[TI"

AB closc o Bar Xvy?

* & 181on siandg. it aiwayvs came
as shown. He hung another bar, AR,
n any particutar direclion.

lypes o meiais, J. K, L and M. He
conducied a scralch test on the meial rods and recorded his observations in the table

Presence of scratch marks on metat rod

K L L
v o
+

27 Caisb wanizq i TGmpare e hardness of
below.

Type of metal rod

used to scratch J
J
K
L a8

_ M

{1} LK M
25 Limx
B Kogadr

o
=
™
Y
[

i

B -3

Arrange the metat fods in asceading order of hardness,

L o I
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28 Charles set up the experiment below. He lefl the sel-ups at a well-fit sp
at 8.30 am. The colour of the mdicator was purple at the stari of the

ol i the garden
expenment. The

indicator changes colour from’ purple 1o red as il intecacts withh more carbon dioxide. 1t

changes from purple to yellow when it interacts with more oxygen.

Test tube J Testtube K Testtube L.
) test tube with
stalk of piant . . [~ sloppej“
with rools .
wrappedin
moist coltan }
- five |
. {grasshdpper
L

ir:djca}or

What will be the colour of the indicator in each test tube 1 hour later?

-4

Testtubed | Testiube K |  Test tube L
(1) . ted puple i yellow
2} o yétlow - purple -~ red
3} ed 0 1 yéllow_ . ' red
{4) “féllow 1. red 1 - yeliow J

A5 {Go on 1o the next page)
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2c Arihur has ins 3 Chjecis shown Saiow

A ﬂ A
l 7 /_\ \"-, i Son
I ¥ . Y ] I
lt_k:m! l f oo l ' I
i 4 .
\ y i ‘ Scm
‘_"‘—-'—'—————}- '*'_‘_—————-———)
16cas 10cm: 1Gcm
star ] dise. SqQuare
fopaque; {iransparent: Ainp apagae

thoginmn: wanspararitl

Fust. he glued ihe 3 objects togsther. Then, hs placed the glusd dbjecis, the torch and
the screenin a Siraight fine in 2 dark room as shown below. "

-

- scrgen
supporling base

Which one of the toilowing shows how the shadow would look like on the screanrwhan
Arthur switched on the torch?

(1)

@

g

16 {4
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30 The diagram below is a repsesentation of blood circulation i the human body. Atrows
W, X, Y and Z represent the flow of blood 1o the vafious parts of lhe body. :

fungs Heart

" Other body paris

Which one of the following graphs correctly represents the percentage of oxygen in W,

X.Yand z?
(N L ¢4} _
Percentage of oxygen in Percentage of oxygen in —
blood {3} blood (%)
& JP
—
w X Y Z W FAN .
{3 ' @ - o
Peicentage of oxygen in Percentage of oxygen in , : '
blood (%} blood (%) _ ; ;
4 -4 R
’ 5
- _’ - . g
w X z X Y <

A 17 * {Go onto the next page}
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Section B {40 marks):

For questions 31 10 46, write your answers in this booldet. The number of marks available is
shown in brackets [ | at the end of each question or pard question. - '

31

The animals fisted below use dilferent brealhihg methods to survive in the water.

‘Water scarpion Dolptin Swordtait Great diving beetle ~  Crab

(a)

(b)

(c}

Which 2 animals from the list given above share the same breathing method to
five in the water? _ ' i

Name 1 other miethiod of breathing in an aquatic environment 1ot used by any-of

the animals mentioned-in the list above. . {4
What are the 2 sources of oxygen for énimais in an aguatic environment? - {13
B-1 ' {Go on 1o the next page]

]

] Score
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3z =iudy 1ae ivod web consisting of SrgEniss found ia & pond Helow
B >k
/ 3
//
- :i1
A — g————— 4 F
N /'
\\ s
. yd i
JJ
- o .\ ’/
D
= m-J* OFGaTESMS {5, 8. . 2. E 6: Fi arc boln pradaior and prey’?
ib‘ “f - 1
{0} meh organism (A E orFring 3= ih i
sien ¥ S 8B F o Ft NS DGO w h-?_;“ IE‘!:& =) pDG‘":E’;"!}"
: i
{ci Organism G is an
‘G” and draw the
above.

arumal that is & predator of C and a prey.oi F. Wile.ing lefier

Appropriate arrows 1o show organism G's piace ia the iood wek

h

1A
N\
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33 The diagram below shows the location of a river.

Gabriel collected several waler samples around points A and B of the rive
had the same volume of water. The

water samples are tabulated below.

_ . All samples
percentage of 3 orgdnisms, T, U dnd V, foundini the

Percentage of each organism in the water samples{%)

Point T u v Others
A 45 29 a i8
B 13 19 42 {.., 26

(@)  H was abserved that.a pollutant was found in the 2 water samples. Based on the
data collected, what can Gabriel conclude about the effect of the potflutant on the
populations of Organisms T, U and v? i1}

{B) Gabriel concluded that the pofhstant must have been discharged at ‘orily point B.
Is he correct? Explain your choice. £

{Go on 1o the next page) _

[ ooe T




2009 - P6 — SC — SA2 - Anglo Chinese

34 Julic glued & SI0Nng imagnat 1o a s wosdan iemg 2t pasiton R as shown below. fHe

ihzn reteassd = siz=ired &1 U and ma2asursd 2 Hme t3xsn for i io reach 5

sie=i rod
/

thin wooden ramp
resting on a suppod

/

magne=i

{al eschite what Juiio observed when he releasad the sisef rod arQy. {11

1,

it} Julic replaced the wooden raGip withh 2n iron sheei and J.ep.eatedi!:e.,am:e
procedure. Whal would he obsznva? ST {1}

{ci Julic decided 10 use & plastic washing boara of the same tength, thickness and
angle of indination as the wooden famp as showa below. He released the siest
Tod atQ and noted the tims iaken for litloreach S.

steel rod

~ plastic washing board
. resting on a support

He observed that the steel rod moved faster on e plastic washing board than ii
did on the thin wooder ramp. Explain why this is so. : ' -

[vd]
E]

150 onvie the nexd-page; -

il
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Me Green conducied an mvestigaton as shown bel

different fabrics can absorb. He poured 500mt of

ow lo find out how much water 3
water to How through

waler onto each fabrhc and allowed
the fabrics Inlo lthe beakers. Al the en

’ d of the experiment, he
measured the water collected in each beaker as shown below,

S00mi of water was poured inlo each setup

Fabric A" - Fabric 8

. i 4i0mi
_'__ 1 of witer

230md

5 . — of 'q.uater
: 160mi e '
g —1 of water _

Beaker B Beaker C

{a}

{b}

Asrange the fabrics in ascending order according o the amount of water they can
absorb.

1

it Mr Green wants 1o cheose a {abrc 1o make raincoats, which fabric would he
choaose, if any?

{1

{Go on to the next page)

[ e |
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Freddis suspanded 5 bakis {A. B, £ z2ad b of Gifierent miasses at cifierent heighis abovs
9ROuRG feval using simiizr sivings. e
ieiszsad bakk A, B ang © oY cutling ihe sifings oNE & 2 fims ang sy cragizg

- depression of differeni depins sach as shown in ihie diagrarm bejow-

{a)

£ piesed 2 contzingr of ficur Below iho Lals, rieddiz

W

%
/"‘_
—,
( L.
egyn 17

'

\
/

‘J ‘-
i 1 o I
H 1 - -
i LB
- 260 ‘\:E/ 2m i =S - "]

What force(s) is/aré acting on the ball as.it falts? T m

- r

Freddie then released Ball D from a height of 2m-avove the tiour. 1 caused a
depression of 3em in the flour. Freddie concluded that Ball O is heavier than Ball
B. Freddie’s teacher saig that his conclusion was not accurate as it was not a fair.
test. Explain why it was not a fair test. : i

3 60 10 e AEEpege:

.= i35
— 1
T i *
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Fiii in the blanks below with the appropriate words. | 3]
When Mi. Tan swiltched on his handatione, the energy from the
batlery will be converted 1o’ . - €nergy. This energy will then be converied
to i £hergy and . energy which makes the handphone work’
it was also converted into 'enérgy during silent moc-!e to make #
vibrate, as well as . - energy which is not usefyl. o

Four similar flower beds A, B, C and D were planted with long bean plants. The table
below shows the conditions around the flower ' :

Bed _ Presence of weeds - B _“""'Pres_encé of dead ﬁ!jants
A Absent . : -Absent '
- B Absent ___ Present .
L - Present : L Preseni
D Fresent . ' Absent

{a} Based on the information above, which Nlower bed would grow the bestlong bean
plani? ' i

{b) It Georgina wanled to find out if the presence of dead plants would affect the
growth of the long bean plants, which 2 flowdi bdds Shodld she use to conduct
her investigation in order Io get the best conclusion? _ 8y

¥ DT e
d

{c} Howdoesthe presence of weeds aflfects the growth of thé fong bean plants? [1]

B-7 {Go on 10 the next page)

I score | !
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39 Sa‘;\:dy i1z fowchart batow.
o= 1 (7 (o)

Does it five

. mOSﬂy in
water? R }

{a) What is the difference between animals and uz {1
‘“_-___'———-—__.____
b}  Nameine group which animal R belongs 1o, 1l

hy
in

1G5 o0 1 the nex page;
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10 Marcus sel up an expenment as shown in the diagram below. He measured the angie by
which the iron thumblack moved from the vertical posilion as he increased the number of
batlertes. He recorded tis observations in he table below.

{a)

{b)

(<}

SuUpport
String ;’l Y
ANNNNANAA A - vertical position
e WWLALY 2
LUV viviv vivg iror: thumbtack
'--—_.—_.._
Number of batteries | 6 32 403 ’
, Angle y{> } - W 15 28 372;1
What 1s the value of W? Give a reason for your answer. _ 3
Explain why the iron thumbtack moved away from the vertical position, {1]

He changed 1 more vanableaag carniad out'thie Expérithent again. He recorded
his teadings in the table below.

Number of batteries 1 2 "3

Angle y(~ ) 21 37 49

What could Marcus have done 10 get the second set of readings if he used the
Same stee! rod? _ -

8-9 {Go on to the next page)

i Crreo
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Thie diagram beiow shiows 3 Gears. W, Xand v,

W
‘/‘ s ot I
o0 W F 'R
d 2
D <,
L g o -
\V) \:
2 §
L - S H
(/\1 A} (‘J—. sz..
F £
D8 WP - '_hS) —
!J 1 8 k}'\ —_ . O ’ 6
i \:‘_} [ Y 3
> ° (/] 5
o~ ER VAR

The niumber of {eath iz each
Folation of the driving gear. W. is as shown.

of tha gzars is shown in the labie below. The direction of

] Gear ; Teeth

‘ w 27

3 T & -

I v H

i X 2 ;

! Y 12 i

o > '
{a} Draw on the diagram the direction of rotation of Gear Y. [
d)  How many rounds wi Gear Y wrn il Gear W tums 2 rounds? {1

& -1

4Go on 1o tha nextpags;
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42 The dassificalion table below shows how some plants have been grouped according to
thewn method of reproduction. The lelters A, B. C and O represent ihe 4 différent types of
plants, )

{a}

by -

[ Method of reproduction in plants _
Group G Group R GrouplS Grod_p T
- orange bryophytium pineaﬁplé onion
papaya african viotet banana potato
A B c D

Based on the classification table-abaove

patatiche( - v -} the comeci boxes.. 2

-

Statement

True

False -

Plant B could be rbse

Plant A reproduces by seeds

Sweel potato belongs to Group T

Plant D could be #n underground stem - : -

in which group (Q, FI S or T) would you place ginger?

{1

B -11

{Go on 1o the next page}

{

l Score l

~
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Nicholas conducied zn ex afimeny
p—ﬂ

goldiist: opsnzd angd ciosed iis gill cove

with only & golgiish insice = {

wiihi fime, §
CRANgS e water jor

nad Gia noi
observation in the ishle Lelow

; - : i : o :
{ Number of days ; 1 i 2 2 ;. a . = - ~ T 7o
H , H H ! i H : ) s :
i s T H 71 _'_'__—_‘—-—-—-—“
I Awverage numiber ! : ! I : ;
: i i, T . : :
: ofltmes the gii R S 13 37 26 . o3 sa
i COvers open and : i P i - i
H - H I H i l 1 i
t «closeinldos | i : i : { ! ]
- -
{2:  Basenonihe abgue dalz, describe the patiein chserved, . R |
ib; Compiste the classification chan batow by filling in the respiraion:, omgans. . of ihe

difiereat groups of animals in the spaces provided.

1

! Respiratory !

T
7 il

Lungs

whale
dolphin

prawn
Seahorse

wriggler
water slick.inseci™

[l

i

- - A )
Boone e ng

i page}

H
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44 Brandon poured equal volumes of tap water |

PolY Pal Z

!_ Time taken for water to reach boiling poing {min)

Pot Y Pot”Zz
4 7

{a) Assuming that the temperature of water iz_zcrieases al a constant rate, draw line

graphs to represent Brandon's obsenitibns. i o
graphs accordingly. T S""’p*lo-\ih&-ﬂu-..m:mde---Lmabei--y?;]r

-Gragh of lemperatire of water aver time

Temperature {°C)

F -_»:_:;__;_.g.._._. s34l T R ] i i iei—
. P T T T T e
L 3 = =2 34 R i allk - = e da
el iR R SHEHBEE S
EEEEIEEEp e SEPERFuLC 3i F
LE3 3T : XERRRSSS s, HHHIT AT
z i I 5 : =430 - - I i
so i IR s o e S FaEEen
N - =i T T T
i iy TETEEAT =l ..._!_":' 37~ =% ; R .
. S 'f - = T K -
g — + - o 3 3 :
80 u .;- o = - X e ' ~ s % ‘:"
: ; iy il FiiET
- 14 ] 2 I E A 3t A ¥ ":'
70 - i A4 i dgE R IEm T
: B2 Do i TETITT FREEE
. ERE ¥ n = bEiTisgie o an
6013 31 £ v a y 3
] 4413 23 XERD - g 3
s n - = s § R . E '
50-; = A i - 4 2 - PR e ix
PR : Sesxn 4 14+ AT
41 W 1 - 3 F 11 ) -y <"
’ e UL A
EEE O N 4 R
21 5 EP A =3 Tk eRcan: :
. - Ea o 3R 1. . e i 3 ] T
307 ST : : SxuELebsak
>6 3+ - - £ iy EIE T X A =
1 8.3 3. z H . K *
; - - i B F 47 >N
TN N NN N R AR D g R e R ko i e o i 1
201 133 srRsnensRRERERD SN Enas knkunnl i BEnE
. g E 3 .y = - - ! F
ENREENN ] F2 z F RN N B i e =i
i_u . B . s EN HREL Ly YTy Ty, xiy - =
dak - ; - 3 i a iy L2 HO
| E ™ -.-‘-.T--—-:' _:' ——y o = - P N = jas . L al
= 3 i T i EE Ry
iR i tir RS & lcnm
. ! ; Tl Ty e
=i =
1 2 ; ' i
3 4 5 6 7 8 4 1g Time {min)

) Explain how the use of Pot Y contributes to cost saving.- | K

8 -13 {Go on to the next page)

[ | 7]
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i3 Timothy put two sialks of a celery plani. cach with a pan removed. ino two sopasals
beakers 6f waler mixed with red G¥e as shown beiow. Ha iefi the Sei-up undisiurbed for
3 howrs, Al ihe end of the tiwes hgurs, Ne ot ths two sizlis o3 posiiicns PO and 8T 2nd
oDserves hiow much of the red Ovs was szan al s CrGss-saclhions, PO and 31

o

il

celery

Cross-section of
cefary plani helore
experimefitation
Sei-up 2
=) in the space below, shade what he would observe in paris PQ.aad. ST af the-end
of e experimeni. R 5 X
—

Part PQ B 2Ty s M b

{8)  Based on the resulis of Timothy's exparment, explain how X' contsibutes 19

pholosynihesis. R

150 on 1 e G page:
e . :

R L



2009 - P6 — SC — SA2 - Anglo Chinese

46 The diagram shows how Reuben is able 10 see the cake when he looks wnlo the
peephiole in front of fam.

. -
% —— foRror
cake st ] . -

mirror

*__—_J _. Reuben’s eye
. /l.;:/

p’éephol‘e_

{a) In the diagram, draw arrows to show the direction thal fight travels which anables
Reuben o see the cake. ) _ 13

{b} Whal will Reuben observe il a white-colowred plale completety covers the
opening? {1

THE END

8- {Go on to the next pagel

t Score
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EXAM PAPER 2009

SCHOOL : ACS PRIMARY
" SUBJECT: PRIMARY 6 SCIENCE -

TERM : SA2

1. 1 6. 4 1. 3 16. 3 21. 3 26. 4
2 1 7 3 12 4 7. 2 22. 3 27. 3
3. 2 8. 3 13. 1 8. 3 23. a4 28 2
4, 4 g 3 14 2 1. 4. 24, g4 29, 2
5. 1 10, 2 15. 1 20. 1 25. 3 30. 2

3t a)swardtail and.crab.

3Lb)breathe through skin - 8 __.___.__——.g-,‘“
’ %
31.¢)Dissolved oxygen from plants, or atmospheric air, // : “
: s *
32a)C and E - b)A

7 o F
S e —3
R hd Y o -
\ J:' _&’ i
. !/
\\

N/
: xS
33.3}Poputations of T and U decreased but V increased. D

- 33.8}No.’1he pollutionn could have heen discharged at A and flowed downstream
affecting organisms at B,
34.a)The rod will roll down but slow down or stop at K.

34.60The steel rod would reach the bottom of the ramp.

34.c}l-es.s friction on the washing board than the iron sheet, _
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35.a)B,C A. b}None of the fabric,
36.2)Gravity and air resistance.
| 36.b)The two balls were not dropped at.the sameheight.
37.Chemical, electrical, light, sound, kinetic , heat
38.a)Bed B b)Bed;; AandB. - c}The weeds compete with the plants for
sunlight and nutrients. | '
39)a.P lays eggs and U does not. b.fish
40.a)0 as it has no batteries.
40.[;)1719 rod became an electric magnet and attracted the thumbtack

40:c}He could have used more powerful; batteries,

41.a})
b} S iounds
42ai)False ii)True jii)False v)True

b}Group 1

43.a)¥he more day there are, the more times the gill covers open and close in 30s

43.b)gills-prawn seahorse air tube-wriggler water stick insect
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éfabhs 2ccordingty.

Graph of temperature of water over time

Temperature (°C
£

4w

E

i

T
10075 . ol

H

E]

071

807

707 -

6ot -

st

st

3071y
26— T T
20+

W s s Bt oy

10‘;3J

M .
: : -
7 a q . .1n Time fmin}

i
i
. -
PR g
o
A

44.a) 5

44.b)Y allows water to boi faster

resulting in reduced use .of electricity .and saves

money,
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) 45.b)it bring water from the roofs to the other parts of the pl:;nt_

{
p . !’\- Pri g ? .
/AT, . o
C-a.;E ‘:n,s,mﬁ ’ . ,4%&’!

“‘,pﬂj

!

/
i
I
__l'

A
Gpening

"ﬁm"'? f :

'
2

7
peephole

46.3) _
A TR o
46b)The tube will be dark. ”‘g";\\:’_@ﬁgﬁ e
- ol __;{,‘?Mj

; Reuben's &ye





